User's Manual

Bed Frame




Assembly Instruction

Note:

1. Should be assembled on flat ground to keep balance.

2. Before completing the installation, do not tighten the screws.

It needs at least

install.

Before starting the
assembly, you must

read the whole
manual and follow

two people to
the instructions

Page 1/8




After the white plastic
buckle is disassembled,
assemble it as shown in

After tightening all

the screws, this screw
must be turned out

slightly, leaving a

Page 2/8

distance of 2-3mm

Assemble the other three drawers
in this way. 4 drawers in total

Assembly Instruction of drawer

n
o
)
-+
(Vp)
Y4
(@]
[
S
S
]
2
[
p .
o
= <
o o
] ]
+ +—
n N
©
x
[ 5
£ N ~ 9 © 2
o x S o E
L =/ U A 3 MX m
5 6F LA\ :
S Qe @) = g
(SR 4 phe [} S
2 3 I 5
O
© o w
£ c 5 (<
o o )
£ - =
s 2
T ~—
25 x
o .= . <
L Y- ] o
= 9 2 mm x
o = ©
€ .m O 3 5
=g 0 2 o)
()] n O —
O © Pt bt € e
S w wv LN ) ™M
s 2 a 4 ) = | o
a v o mm D3 e | &
K (%2
) O Vs o ()




Assembly Instruction of bed

ot included

Drawer n




Assembly Instruction of bed

Hardware arts

g g i i I © I

M8*15 M8*25 M8*35 M8*45 M8*55 M8 M8

@ :6rcs @ 12rcs @ srcs @ 7rcs @ +rcs @©-spcs @ wrc

I AN (=

(1 JIJe @ 2rcs © 2rcs O 2rcs @ 2rcs (6 JIJo @ 12rcs

~N | 7 A <

© 1rc ©:rc @ 1rcC (11 Jlle M 2rcs é® 24rcs

Part list

Page 4/8




Assembly Instruction of bed

Step:1

Step:2
Q X 6PCS

The hole faces outward

Page 5/8




g @ X12PCS

Assembly Instruction of bed




Assembly Instruction of bed




Step:8

-
(]
S
©
S
©
(]
N -
i)
m
>
-
c
(0]
o

Q
<
c
S o
= c
Wt
©
S ¢
O m©
@ 9
(o)
Qe
i
c £
O
= 0
c O

snap itin

Page 8/8

Assembly Instruction of bed

Step:7




	T-B36F-1031
	T-B36F-2
	T-B36F-3
	T-B36F-4
	T-B36F-5
	T-B36F-6
	T-B36F-7
	T-B36F-8
	T-B36F-9
	T-B36F.pdf
	T-B36F.pdf
	T-B36F-2
	T-B36F-3
	T-B36F-4
	T-B36F-5
	T-B36F-6
	T-B36F-7
	T-B36F-8
	T-B36F-9

	
	T-B36F-1
	T-B36F-2
	T-B36F-3
	T-B36F-4
	T-B36F-5
	T-B36F-6
	T-B36F-7
	T-B36F-8



